Prepared by:	ehs																	
			Cherokee Contracting 9546 US Hwy 87 East #1 San Antonio, TX 78263		Pesado Construction Company, Inc. 7054 Pipestone Schertz, TX 78154			Atlas Construction, Corp. 312 Sunset Dr. Granite Shoals, TX 78654					Qro Mex Construction Co., Inc. 2801 Prairie Creek Rd Granite Shoals, TX 78654					
		stimate Unit of Issue Description		Unit Price			Unit Price		Total	Unit Price	Unit Price Total		Unit Price		Total	Unit Price	1	Total
SAWS J	ob No. 12-1	1501																
540 (CoSA)	1	LS	Erosion & Sedimentation Control	\$8,000.00		\$8,000.00	\$5,000.00		\$5,000.00	\$9,000.00		\$9,000.00	\$14,000.00		\$14,000.00	\$7,500.00		\$7,500.00
550	1,963	LF	Trench Excavation Protection	\$6.00	_	\$11,778.00	\$3.00		\$5,889.00	\$2.00		\$3,926.00	\$2.00		\$3,926.00	\$2.00		\$3,926.00
848A	1,963	LF	12" Sewer Main (open cut-all depths, incl stubouts)	\$58.00	_	\$113,854.00	\$65.00	\$65.00 \$20.00 \$65.00	\$127,595.00	\$65.00		\$127,595.00	\$45.00		\$88,335.00	\$41.00		\$80,483.00
848B	1,075	LF	12 Sewer Main Installed In Casing 24" Steel Casing Pipe by Jacking,	\$21.00	_	\$22,575.00	\$20.00		\$21,500.00	\$65.00		\$69,875.00	\$60.00		\$64,500.00	\$110.00		\$118,250.00
856A	1,075	LF	Boring or Tunneling	\$81.00	_	\$87,075.00	\$65.00		\$69,875.00	\$75.00		\$80,625.00	\$62.00		\$66,650.00	\$180.00		\$193,500.00
856B	1,075	LF	Jacking, Boring or Tunneling 24" Steel Casing Pipe	\$254.00		\$273,050.00	\$280.00	\$301,000.00	\$250.00	,	\$268,750.00	\$285.00]	\$306,375.00	\$220.00	,	\$236,500.00	
852A/8 53A 852B/8	10	EA	4' Diameter Sanitary Sewer Manhole 6' Diameter Sanitary Sewer	\$4,600.00	rcentage	\$46,000.00	\$3,600.00	\$3,600.00	\$36,000.00	\$5,000.00	age	\$50,000.00	\$4,400.00	age	\$44,000.00	\$3,850.00	ercentage	\$38,500.00
53B 852C/8	2	EA	Manhole Extra Depth 4' Sanitary Sewer	\$9,600.00	ent	\$19,200.00	\$9,500.00	ent	\$19,000.00	\$6,000.00	ent	\$12,000.00	\$6,900.00	ent	\$13,800.00	\$5,750.00	ent 	\$11,500.00
52C	62	VF	Manholes	\$314.00		\$19,468.00	\$400.00	Percentag	\$24,800.00	\$400.00	ercentag	\$24,800.00	\$120.00	ercentag	\$7,440.00	\$250.00	rc	\$15,500.00
852D/8 53D	35	VF	Extra Depth 6' Sanitary Sewer Manholes	\$467.00	Pe	\$16,345.00	\$600.00	Pe	\$21,000.00	\$500.00	Pe	\$17,500.00	\$180.00	Pe	\$6,300.00	\$275.00	ceil Pe	\$9,625.00
848/852	1	EA	Gravity Sewer Tie-Ins	\$3,200.00		\$3,200.00	\$1,400.00		\$1,400.00	\$2,500.00		\$2,500.00	\$2,000.00		\$2,000.00	\$2,500.00		\$2,500.00
824	1	EA	Service Line Reconnection	\$4,000.00		\$4,000.00	\$1,600.00		\$1,600.00	\$2,000.00		\$2,000.00	\$4,000.00		\$4,000.00	\$1,300.00		\$1,300.00
834	3	EA	Standard Fire Hydrant Assembly	\$3,800.00	Ī	\$11,400.00	\$3,400.00		\$10,200.00	\$4,000.00		\$12,000.00	\$4,000.00		\$12,000.00	\$4,500.00	Ī	\$13,500.00
866	3,038	LF	Sewer Television Inspection (all pipe sizes)	\$2.00	ļ	\$6,076.00	\$2.00)	\$6,076.00	\$3.00		\$9,114.00	\$3.00		\$9,114.00	\$3.00	Ī	\$9,114.00
164 TxDOT	2,200	SY	Revegetation	\$0.80	ļ	\$1,760.00	\$2.00		\$4,400.00	\$1.00	1 [\$2,200.00	\$2.00		\$4,400.00	\$1.00		\$2,200.00
160 CoSA	2,200		4" Topsoil	\$5.00		\$11,000.00	\$2.50		\$5,500.00	\$2.00		\$4,400.00	\$20.00		\$44,000.00	\$8.00		\$17,600.00
20571	2,200			ψ3.00			φ2.50			φ2.00			φ20.00			φο.υυ	Ī	
	Т	SUB TO	OTAL BASE BID Job No. 12-1501			\$654,781.00			\$660,835.00			\$696,285.00			\$690,840.00			\$761,498.00
100	1	LS	Mobilization	\$52,382.48	8.0%	\$52,382.48	\$55,000.00	8.3%	\$54,849.31	\$50,000.00	7.181%	\$50,000.23	\$62,175.60	9%	\$62,175.60	\$20,000.00	3%	\$22,844.94

Prepared by	ehs																	
Solicitation No.: B-12-03		O37-CM Contract No: C-12-034-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Hallilburton 12" Oversize Sewer Main Job # 12-1501 2:00 P.M.		Cherokee Contracting 9546 US Hwy 87 East #1 San Antonio, TX 78263				# n: '	Schertz, TX 78154		Atlas Construction, Corp. 312 Sunset Dr.	Granite Shoals, TX 78654		San Antonio Constructors, Ltd P.O. Box 682008 San Antonio. TX 78268		Qro Mex Construction Co., Inc. 2801 Prairie Creek Rd Granite Shoals, TX 78654		Oranne Shoats, 1A 78054
DATE:		May 14, 2																
Item No.	Estimate Qty		Description	Unit Price			Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price		Total
100	1	LS	Preparation of Right of Way	\$19,643.43	3.0%	\$19,643.43	\$25,000.00	3.8%	\$25,111.73	\$30,000.00	4.31%	\$30,009.88	\$27,633.60	4%	\$27,633.60	\$10,000.00	1%	\$7,614.98
	Mobilization & Preparation of R.O.W. Subtotal					\$72,025.91			\$79,961.04			\$80,010.11			\$89,809.20			\$30,459.92
	Total Bid Amount including Addendum #1					\$726,806.91			\$740,796.04			\$776,295.11			\$780,649.20			\$791,957.92
CALEN	CALENDAR DAYS TO COMPLETE					150			150			150			150			150
						[1]			[2]			[3]			[4]			[5]

Solicitation	Prepared by: ehs Solicitation No.: B-12-037-CM Contract No: C-12-034-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS PROPOSAL: Hallilburton 12" Oversize Sewer Main Job # 12-1501			Bartek Construction 5221 Port Entry San Antonio, TX 78222			DM Constitution & Dak III		to Sandblasting & Coating & Oilfield	Services Co., Inc. 9456 South Presa		Borco, LP P.O. Box 670027 Houston, TX 77267			
TIME & DATE:		2:00 P.M							Pronto						
Item	May 14, 2012 Estimate Unit of Qty Issue Description		Unit Price Total		Unit Price	rice		Unit Price		Total	Unit Price		Total		
SAWS J	lob No. 12-	1501													
540 (CoSA) 550	1,963	LS LF	Erosion & Sedimentation Control Trench Excavation Protection	\$6,000.00 \$3.50		\$6,000.00 \$6,870.50	\$7,000.00 \$10.00		\$7,000.00 \$19,630.00	\$7,000.00 \$1.00		\$7,000.00 \$1,963.00	\$30,000.00 \$4.00		\$30,000.00 \$7,852.00
848A	1,963	LF	12" Sewer Main (open cut-all depths, incl stubouts)	\$72.00		\$141,336.00	\$130.00		\$255,190.00	\$56.00		\$109,928.00	\$275.00		\$539,825.00
848B	1,075	LF	12 Sewer Main Installed In Casing	\$46.00		\$49,450.00	\$90.00	age	\$96,750.00	\$44.00		\$47,300.00	\$220.00		\$236,500.00
856A	1,075	LF	24" Steel Casing Pipe by Jacking, Boring or Tunneling	\$78.00		\$83,850.00	\$110.00		\$118,250.00	\$70.00	Percentage	\$75,250.00	\$150.00		\$161,250.00
856B	1,075	LF	Jacking, Boring or Tunneling 24" Steel Casing Pipe	\$315.00		\$338,625.00	\$270.00		\$290,250.00	\$700.00		\$752,500.00	\$284.00		\$305,300.00
852A/8 53A 852B/8	10	EA	4' Diameter Sanitary Sewer Manhole 6' Diameter Sanitary Sewer	\$6,500.00	ercentage	\$65,000.00	\$5,000.00		\$50,000.00	\$4,000.00		\$40,000.00	\$3,900.00		\$39,000.00
53B 852C/8	2	EA	Manhole Extra Depth 4' Sanitary Sewer	\$8,600.00	ent	\$17,200.00	\$18,000.00	ení	\$36,000.00	\$5,500.00		\$11,000.00	\$8,000.00	ent	\$16,000.00
52C 852D/8	62	VF	Manholes Extra Depth 6' Sanitary Sewer	\$265.00	ırc	\$16,430.00	\$500.00	Percentag	\$31,000.00	\$200.00		\$12,400.00	\$210.00	ırc	\$13,020.00
53D	35	VF	Manholes	\$315.00	Pe	\$11,025.00	\$900.00	Pe	\$31,500.00	\$370.00		\$12,950.00	\$300.00	Pe	\$10,500.00
848/852	1	EA	Gravity Sewer Tie-Ins	\$3,600.00		\$3,600.00	\$3,500.00		\$3,500.00	\$3,100.00		\$3,100.00	\$8,000.00		\$8,000.00
824	1	EA	Service Line Reconnection	\$4,700.00		\$4,700.00	\$4,500.00		\$4,500.00	\$3,100.00		\$3,100.00	\$5,500.00		\$5,500.00
834	3	EA	Standard Fire Hydrant Assembly	\$6,400.00		\$19,200.00	\$8,500.00		\$25,500.00	\$4,200.00		\$12,600.00	\$5,000.00		\$15,000.00
866	3,038	LF	Sewer Television Inspection (all pipe sizes)	\$1.50		\$4,557.00	\$8.00		\$24,304.00	\$3.00		\$9,114.00	\$3.50		\$10,633.00
164 TxDOT	2,200	SY	Revegetation	\$1.00		\$2,200.00	\$10.00		\$22,000.00	\$1.00		\$2,200.00	\$10.00		\$22,000.00
160 CoSA	2,200	SY	4" Topsoil	\$5.00		\$11,000.00	\$30.00		\$66,000.00	\$4.00		\$8,800.00	\$10.00		\$22,000.00
	SUB TOTAL BASE BID Job No. 12-1501				\$781,043.50			\$1,081,374.00			\$1,109,205.00			\$1,442,380.00	
100	1	LS	Mobilization	\$60,000.00	7.68%	\$59,984.14	\$64,882.44	6%	\$64,882.44	\$100,000.00	9%	\$100,000.00	\$99,500.00	10.0%	\$144,238.00

Prepared by: ehs Solicitation No.: B-12-037-CM Contract No: C-12-034-CM SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS PROPOSAL: Hallilburton 12" Oversize Sewer Main Job # 12-1501 TIME & 2:00 P.M.			-	Bartek Construction 5221 Port Entry San Antonio, TX 78222		DMC Construction 9. Dohok 110		Pronto Sandblasting & Coating & Oilfield	Services Co., Inc. 9456 South Presa		Borco, LP P.O. Box 670027 Houston, TX 77267				
Item No.	Estimate Qty	May 14, 2 Unit of Issue	Description	Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price		Total
100	1	LS	Preparation of Right of Way	\$16,000.00	2.05%	\$16,011.39	\$54,068.70	5%	\$54,068.70	\$50,000.00	5%	\$50,000.00	\$72,119.00	5.0%	\$72,119.00
	Mobilization & Preparation of R.O.W. Subtotal					\$75,995.53			\$118,951.14			\$150,000.00			\$216,357.00
		Total Bio	d Amount including Addendum #1			\$857,039.03			\$1,200,325.14			\$1,259,205.00			\$1,658,737.00
CALEN	CALENDAR DAYS TO COMPLETE					150			150			150			150
						[6]			[7]			[8]			[9]